

EDITORIAL CUADERNOS DE SOFÍA



## CUADERNOS DE SOFÍA EDITORIAL

#### **CUERPO DIRECTIVO**

**Directores** 

Dr. Juan Guillermo Mansilla Sepúlveda Universidad Católica de Temuco, Chile Dr. Francisco Ganga Contreras Universidad de Los Lagos, Chile

Subdirectores

Mg © Carolina Cabezas Cáceres Universidad de Las Américas, Chile Dr. Andrea Mutolo

Universidad Autónoma de la Ciudad de México, México

Editor

**Drdo. Juan Guillermo Estay Sepúlveda** *Editorial Cuadernos de Sofía, Chile* 

Editor Científico
Dr. Luiz Alberto David Araujo

Pontificia Universidade Católica de Sao Paulo, Brasil

**Editor Brasil** 

**Drdo.** Maicon Herverton Lino Ferreira da Silva Universidade da Pernambuco, Brasil

Editor Ruropa del Este Dr. Alekzandar Ivanov Katrandhiev Universidad Suroeste "Neofit Rilski", Bulgaria

**Cuerpo Asistente** 

Traductora: Inglés Lic. Pauline Corthorn Escudero

Editorial Cuadernos de Sofía, Chile

Traductora: Portugués

Lic. Elaine Cristina Pereira Menegón Editorial Cuadernos de Sofía, Chile

**Portada** 

**Sr. Felipe Maximiliano Estay Guerrero** *Editorial Cuadernos de Sofía, Chile* 

**COMITÉ EDITORIAL** 

**Dra. Carolina Aroca Toloza** *Universidad de Chile, Chile* 

**Dr. Jaime Bassa Mercado** *Universidad de Valparaíso, Chile* 

**Dra. Heloísa Bellotto** *Universidad de Sao Paulo, Brasil* 

Dra. Nidia Burgos

Universidad Nacional del Sur, Argentina

Mg. María Eugenia Campos

Universidad Nacional Autónoma de México, México

**Dr. Francisco José Francisco Carrera** *Universidad de Valladolid, España* 

Mg. Keri González

Universidad Autónoma de la Ciudad de México, México

**Dr. Pablo Guadarrama González** *Universidad Central de Las Villas. Cuba* 

Mg. Amelia Herrera Lavanchy Universidad de La Serena, Chile

Mg. Cecilia Jofré Muñoz Universidad San Sebastián, Chile

Mg. Mario Lagomarsino Montoya Universidad Adventista de Chile, Chile

**Dr. Claudio Llanos Reyes** 

Pontificia Universidad Católica de Valparaíso, Chile

Dr. Werner Mackenbach

Universidad de Potsdam, Alemania Universidad de Costa Rica, Costa Rica

Mg. Rocío del Pilar Martínez Marín Universidad de Santander, Colombia

Ph. D. Natalia Milanesio

Universidad de Houston, Estados Unidos

Dra. Patricia Virginia Moggia Münchmeyer Pontificia Universidad Católica de Valparaíso, Chile

Ph. D. Maritza Montero

Universidad Central de Venezuela, Venezuela

Dra. Eleonora Pencheva

Universidad Suroeste Neofit Rilski, Bulgaria

Dra. Rosa María Regueiro Ferreira

Universidad de La Coruña, España

Mg. David Ruete Zúñiga

Universidad Nacional Andrés Bello, Chile

Dr. Andrés Saavedra Barahona

Universidad San Clemente de Ojrid de Sofía, Bulgaria



Dr. Efraín Sánchez Cabra

Academia Colombiana de Historia, Colombia

Dra. Mirka Seitz

Universidad del Salvador, Argentina

Ph. D. Stefan Todorov Kapralov

South West University, Bulgaria

**COMITÉ CIENTÍFICO INTERNACIONAL** 

Comité Científico Internacional de Honor

Dr. Adolfo A. Abadía

Universidad ICESI, Colombia

Dr. Carlos Antonio Aguirre Rojas

Universidad Nacional Autónoma de México, México

Dr. Martino Contu

Universidad de Sassari, Italia

Dr. Luiz Alberto David Araujo

Pontificia Universidad Católica de Sao Paulo, Brasil

Dra. Patricia Brogna

Universidad Nacional Autónoma de México, México

Dr. Horacio Capel Sáez

Universidad de Barcelona, España

Dr. Javier Carreón Guillén

Universidad Nacional Autónoma de México, México

**Dr. Lancelot Cowie** 

Universidad West Indies, Trinidad y Tobago

Dra. Isabel Cruz Ovalle de Amenabar

Universidad de Los Andes. Chile

Dr. Rodolfo Cruz Vadillo

Universidad Popular Autónoma del Estado de Puebla, México

Dr. Adolfo Omar Cueto

Universidad Nacional de Cuyo, Argentina

Dr. Miguel Ángel de Marco

Universidad de Buenos Aires, Argentina

Dra. Emma de Ramón Acevedo

Universidad de Chile, Chile

## CUADERNOS DE SOFÍA EDITORIAL

Dr. Gerardo Echeita Sarrionandia

Universidad Autónoma de Madrid, España

Dr. Antonio Hermosa Andújar

Universidad de Sevilla, España

Dra. Patricia Galeana

Universidad Nacional Autónoma de México, México

Dra. Manuela Garau

Centro Studi Sea, Italia

Dr. Carlo Ginzburg Ginzburg

Scuola Normale Superiore de Pisa, Italia Universidad de California Los Ángeles, Estados Unidos

Dr. Francisco Luis Girardo Gutiérrez

Instituto Tecnológico Metropolitano, Colombia

José Manuel González Freire

Universidad de Colima, México

Dra. Antonia Heredia Herrera

Universidad Internacional de Andalucía, España

Dr. Eduardo Gomes Onofre

Universidade Estadual da Paraíba, Brasil

Dr. Miguel León-Portilla

Universidad Nacional Autónoma de México, México

Dr. Miguel Ángel Mateo Saura

Instituto de Estudios Albacetenses "Don Juan Manuel", España

Dr. Carlos Tulio da Silva Medeiros

Diálogos em MERCOSUR, Brasil

+ Dr. Álvaro Márquez-Fernández

Universidad del Zulia, Venezuela

Dr. Oscar Ortega Arango

Universidad Autónoma de Yucatán, México

**Dr. Antonio-Carlos Pereira Menaut** 

Universidad Santiago de Compostela, España

Dr. José Sergio Puig Espinosa

Dilemas Contemporáneos, México

Dra. Francesca Randazzo

Universidad Nacional Autónoma de Honduras, Honduras



Dra. Yolando Ricardo

Universidad de La Habana, Cuba

Dr. Manuel Alves da Rocha

Universidade Católica de Angola Angola

Mg. Arnaldo Rodríguez Espinoza

Universidad Estatal a Distancia, Costa Rica

Dr. Miguel Rojas Mix

Coordinador la Cumbre de Rectores Universidades Estatales América Latina y el Caribe

Dr. Luis Alberto Romero

CONICET / Universidad de Buenos Aires, Argentina

Dra. Maura de la Caridad Salabarría Roig

Dilemas Contemporáneos, México

Dr. Adalberto Santana Hernández

Universidad Nacional Autónoma de México, México

Dr. Juan Antonio Seda

Universidad de Buenos Aires, Argentina

Dr. Saulo Cesar Paulino e Silva

Universidad de Sao Paulo, Brasil

Dr. Miguel Ángel Verdugo Alonso

Universidad de Salamanca, España

Dr. Josep Vives Rego

Universidad de Barcelona, España

Dr. Eugenio Raúl Zaffaroni

Universidad de Buenos Aires, Argentina

Dra. Blanca Estela Zardel Jacobo

Universidad Nacional Autónoma de México, México

**Comité Científico Internacional** 

Mg. Paola Aceituno

Universidad Tecnológica Metropolitana, Chile

Ph. D. María José Aguilar Idañez

Universidad Castilla-La Mancha, España

Dra. Elian Araujo

Universidad de Mackenzie, Brasil

Mg. Rumyana Atanasova Popova

Universidad Suroeste Neofit Rilski, Bulgaria

## CUADERNOS DE SOFÍA EDITORIAL

Dra. Ana Bénard da Costa

Instituto Universitario de Lisboa, Portugal Centro de Estudios Africanos, Portugal

Dra. Alina Bestard Revilla

Universidad de Ciencias de la Cultura Física y el Deporte. Cuba

Dra. Noemí Brenta

Universidad de Buenos Aires, Argentina

Dra. Rosario Castro López

Universidad de Córdoba, España

Ph. D. Juan R. Coca

Universidad de Valladolid, España

**Dr. Antonio Colomer Vialdel** 

Universidad Politécnica de Valencia, España

Dr. Christian Daniel Cwik

Universidad de Colonia, Alemania

Dr. Eric de Léséulec

INS HEA, Francia

Dr. Andrés Di Masso Tarditti

Universidad de Barcelona, España

Ph. D. Mauricio Dimant

Universidad Hebrea de Jerusalén, Israel

Dr. Jorge Enrique Elías Caro

Universidad de Magdalena, Colombia

Dra. Claudia Lorena Fonseca

Universidad Federal de Pelotas, Brasil

Dra. Ada Gallegos Ruiz Conejo

Universidad Nacional Mayor de San Marcos, Perú

Dra. Carmen González y González de Mesa

Universidad de Oviedo, España

Ph. D. Valentin Kitanov

Universidad Suroeste Neofit Rilski, Bulgaria

Mg. Luis Oporto Ordóñez

Universidad Mayor San Andrés, Bolivia

Dr. Patricio Quiroga

Universidad de Valparaíso, Chile



## CUADERNOS DE SOFÍA EDITORIAL

Dr. Gino Ríos Patio

Universidad de San Martín de Porres, Per

Dr. Carlos Manuel Rodríguez Arrechavaleta

Universidad Iberoamericana Ciudad de México, México

Dra. Vivian Romeu

Universidad Iberoamericana Ciudad de México, México

Dra. María Laura Salinas

Universidad Nacional del Nordeste, Argentina

Dr. Stefano Santasilia

Universidad della Calabria, Italia

Mg. Silvia Laura Vargas López

Universidad Autónoma del Estado de Morelos, México

Dra. Jaqueline Vassallo

Universidad Nacional de Córdoba, Argentina

**Dr. Evandro Viera Ouriques** 

Universidad Federal de Río de Janeiro, Brasil

Dra. María Luisa Zagalaz Sánchez

Universidad de Jaén, España

Dra. Maja Zawierzeniec

Universidad Wszechnica Polska, Polonia

Editorial Cuadernos de Sofía Santiago – Chile Representante Legal Juan Guillermo Estay Sepúlveda Editorial

#### Indización, Repositorios y Bases de Datos Académicas

Revista Inclusiones, se encuentra indizada en:

























































































BIBLIOTECA UNIVERSIDAD DE CONCEPCIÓN



### CUADERNOS DE SOFÍA EDITORIAL

ISSN 0719-4706 - Volumen 6 / Número Especial / Abril - Junio 2019 pp. 318-334

# WORK/LIFE BALANCE: AN INVESTIGATION OF SCHEDULED BANK EMPLOYEES IN PUNJAB, PAKISTAN

# EQUILIBRIO TRABAJO-VIDA: UNA INVESTIGACIÓN DE EMPLEADOS BANCARIOS PROGRAMADOS EN PUNJAB, PAKISTÁN

#### Khurrum Rashid

National Bank of Pakistan Regional Office Multan, Pakistan **Mazhar Abbas** 

Department of Managent Sciences, COMSATS, University Islamab, Vehari Campus, Pakistan **Bilal Tariq** 

Department of Managent Sciences, COMSATS, University Islamab, Vehari Campus, Pakistan

Fecha de Recepción: 17 de noviembre de 2018 – Fecha Revisión: 22 de enero de 2019 Fecha de Aceptación: 18 de marzo de 2019 – Fecha de Publicación: 01 de abril de 2019

#### **Abstract**

Work Life Balance is gaining importance and is an area of contemporary research for the modern researcher in the fields of organization development, human resource management. This study focuses on exploring the work-life balance situation in scheduledd bank employees in Punjab Pakistan. The target population is the employees of scheduledd banks who are posted in branches which are located in all 36 districts of province Punjab. The stratified random sampling with sample size setting through the proportional allocation was used to calculate sample size. A total of 568 respondents provided their input. Mann–Whitney, Regression analysis and correlation coefficient were used as statistical tools to analyze the data set. The results of the study show that there exists an imbalance between work and family life in employees of the scheduledd banks in different districts of Punjab. By applying tests, it is also explored that problems in one ambit of theses employees affect the other ambit also. Problems relating to work have significant impact upon non-work/family life of these employees and vice versa. The employees have to spend more time at their work and are resultantly giving lesser time to the families / lives outside work.

#### **Keywords**

Worl - Life - Punjab

#### Para Citar este Artículo:

Rashid, Khurrum; Abbas, Mazhar y Tariq, Bilal. Work/life balance: an investigation of scheduled bank employees in Punjab, Pakistan. Revista Inclusiones Vol: 6 num 2 (2019): 318-334.

#### Introduction

Bank is a form of company which acts as financial intermediary between those who have surplus funds and those who are short of funds in the simplest term. Major function of banks all over the world is to accept the deposit from the general public and from corporate entities. The difference between what is paid to depositor and what is earned from the borrowers is known as spread of a bank.

#### **Evolution Of Banking Of Pakistan**

After the independence of Pakistan in 1947 only a few bank branches were working at that time in Pakistan as Australasia Bank in Lahore before the partition, while after independence, Habib Bank was the first working bank in Pakistan which shifted its head quarter from the Bombay to Karachi. Another bank which was operational in this newly created state was Bank of Bahawalpur who started its operation in Bahawalpur and had some of its branches outside the territory of the state.

Presently, there are so many banks working in Pakistan and these differ in their specialty, size and expertise, nature of incorporation and their control etc. In Fifth Financial Development report prepared by World Economic Forum on annual basis describes that Pakistan was ranked 58 out of 62 countries the year 2012 while taking into count of multiple factors affecting financial sectors across countries.

#### Work-Life Balance - A Background

Balance between the work and life is always concerned with the quality of life and also the quality of work broadly. During the early days of the industrial exposure in Europe the primary concern at that time was the impact of child labor. In the time of recession as well as in the current times in different parts of Europe, the main concern is the lack of employment and its consequences. The concepts of work life balance come to force in contemporary debates very largely as increasing demands of work has forced employees to give extra time to work. Almost 25 years ago the experts were warning about the unemployment due to the advancement of technology in different sectors or the concept of leisure was showing its growth due to the latest technologies. Work with the new technologies is creating the space for greater leisure in different sector. The possibility of identifying the factors related to the work life balance is the concern of policy debate. The briefly described things were as an assessment of their significance will have bearing of the question that is worth researching. The main three broader set of overlapping influences that can be identified, concerned with the development of the work that could be the scene of causing problem of work life imbalances. The relating concerns to work life balance might be viewed as consequences of work life imbalance and that concerning individuals and their lives outside the work give the importance to address the challenge of work life balance as a contemporary policy issues.

The pressure of work on those that are working at some service sectors have been identified in recent decades. The concerning factors are the advancement of information technology, need for speed of response, and the importance attached to the quality of customer services and its implications for constant availability and the pace of change its resultant upheavals and the adjustments all demand on time and it can be a source of the pressure during work. Evidence from the United Kingdom is that its working hours are the longest in the Europe, it shows that the average number of hours worked has been steady

for the past twenty years. The comparative facts show that the working hours in the Europe have been increased as like in Italy, France, Ireland and Netherland. While the extension of working hours are not reported in the Germany. The word intensity of working was a subjective phenomenon about the working in services sectors. As a result the creation of argument was in the favor of work life imbalance.

Talking about the community related to the people that are under the working has its impact on the family and near community. The lack of local resources and facilities and the growth of single parent families are the factors that are disturbed due to the imbalance of the work and life. In Western society the unparallel era related to higher proportion of women from the all social classes that are engaged as paid employment than ever before. The demand of work and pressure are reflected in longer hours, higher exhaustion and growth of evening and weekend work indicates the less quality family life.

Serious consequences that are caused by the imbalance between work and life are use of drug abuse; increase in juvenile crime and the less willingness to take a responsibility for the care of elderly relatives. The steps to control and take over on this imbalance is much needed and it is nevertheless argued that the demand of work contribute to a reduced participation in non work activities resulting in an imbalance. The third era concerns to the values and attitudes of the people in work. Simulation of the issues of work life balance by writers advocated to the arrival of generation X, cohort of workers who gives greater priority need to seek a balance between work and life as a rest. In general, the new view that is widely promoted by the some management writers but not to strongly supported by sound empirical evidence, workers are less willing to display unlimited commitment to the organization.

#### Meaning of work family conflict

#### Role conflict

The role conflict is defined as simultaneous occurrence of two or more sets of pressures such that the fulfillment that one would make more complicated compliance with the others. Khan et al, in his study identified the different types of conflicts into the work role, person role conflict, interceder and intrasender. In the each form of the conflict one set off the role pressure is in some positive sense unable to get along with the other set of pressure.

#### Inter role conflict

The inter role conflict is a form of the role conflict in which the sets of the opposing pressure arise from the participation in different roles. Inter role conflict cases the pressure role associated with membership in one organization are conflict with the pressure stemming from the membership in other groups. Role sender demands on the job for take homework or overtime can conflict with the pressure from the one's wife to the given attentions to family associations during the evening hours. That type of conflict arises from between the role of focal person as the worker and the next his role as husband and father. In his research study khan describes the specific the instance of inter role conflicts in his passage. In the more general sense, the inter role conflict is qualified when the pressure is arising in one role is compatible with the pressure increasing in another role. One thing must be noted that role pressure incompatibility always exists when participation in one role is made more difficult by virtue of participation in another role.

#### **Work-family conflict**

According to khan the following definitions of work family conflict are described as under; a form of the inter role conflict in which role pressures from work and family domains are reciprocally unable to get along in some respects. In the family work contribution the role is made more complicated by desirable quality of participation.

#### Personality and work life balance

In current days very impressive body of research supported that have the five basic dimensions of the personality underlines the all characteristics of the personality. Big five model factors are as under openness, neuroticism, extroversion, agreeableness and conscientiousness. The extroversion is extent to in which one is more sociable and the outgoing or reserved, retiring and introspected. Agreeableness is the extent in which one is trusting and more agreeable or uncooperative and suspicious. Conscientiousness is extent in which one is reliable and hardworking or careless, lazy and unreliable. Neuroticism is extent in which one is insecure and nervous as opposed to secure and calm. Openness is extent in which one is nonconformist and creative or down to earth and conventional. The crooker have identified that basic different personality that traits allow the individuals to cope with work life balance in different ways. So with the usage of these factors as framework they sate that those individuals with the conscientiousness and agreeableness are more likely to have a positive work life balance. The conscientiousness has three basic characteristics are as follow challenge, control and commitment. Agreeable individuals always create a support mechanism to the others and they reach out when they experience to the stressful situations. It should be considered that those individuals with the negative affect and low self efficiency not achieve a balanced work life.

The extraversion and neuroticism also been identified to as personality traits that can be reflect a pattern of the work life balance. The high neuroticism is related to emotionally instability that can lead to the unstable work life balance, whereas the extroversion measures the individual differences in the preference for social interaction and to the extent in which a person is outgoing, ambitious, assertive, gregarious, talkative and adventuresome. Those individuals who have high in extroversion prefer to the interacting with and typically have a very large number of relationships and those individuals low on the extroversion prefer solitude and have smaller number of the relationships.

The extroversion was found to have the significant correlation with work life balance for the services sector employees. It has been founded that more extroverted to an individual's is to the more likely they are to the experience of work life balance. The current founding is consistent with research on the subjective well being. The extroverts have temperament that predisposes them to experience positive affect. So extroverts have this global tendency to experience the life in positive manner. It will make the intuitive sense that those individual's high on the extroversion are more likely to experience the greater work life balance. The personality traits have associated to the work life balance.

Approach of the psychology individual the differences can be fruitful for the research of work life balance due to fact that the studying aspects of different personality types that can be enhance to our understanding of perceptions of the balance. Consequently it may be realized to the personality of an individual have effects on an individual's balance between the life and work. Accordingly, the purpose of this study was

to identify the impact of the personality on work life balance. It was based on the objective of this research paper was to investigate whether the personality of college teachers related to work life balance. This paper examines the impact of personality on work life balance. It analyses the individual differences in maintaining a proper balance between work and life domains, mainly caused by the personality using Big Five personality dimensions.

#### Satisfaction with life and work life balance

The life satisfaction provides an individual's assessment the overall sense of well being as emotional, physical and social productive. Life satisfaction was refer to the judgmental process in which the individuals measure their quality of life on the basis of criteria should be created by themselves. So comparisons with one perceived circumstances of life with the self imposed life standards that are presumably made the degree in which the conditions are match with the standards and to the person who reports the high satisfaction. Consequently, the life satisfaction is the conscious cognitive judgment of the individual's life in which the judgment criteria are up to the person.

The work life researchers give the reason of that because of the reciprocal and interactive nature of the relationship of the balance between work and family life dimensions. The work related roles stress can be combining with work family demand to exert substantial authority on an employee's on the whole awareness of life satisfaction. Additional, it is unspecified that improvements in the quality of the work-life will bring into being resultant improvements in the quality of life as it makes it easier for human resources to trim down the strains of the managing the modern family. Usually, the research has supported these contentions. High work life disagreement has time after times have been connected with lower levels of life satisfaction.

Consequently these experiential evidences make available the support that work life balance is directly related to life satisfaction and dimensions of the personality and also the fact that found from the review of literature shows that the work life balance is being an important aspect for human welfare that has been constantly changing its horizons. The research studies already carried out concerning work life balance are isolated and subjective but not so much experimental base studies concerning interlinked variables have been selected, though it is so fundamental for the continued existence and welfare of the human beings as well as expansion of an organization.

#### **Problem Statement**

With increase in competition, comes a severe pressure on the employees of the banks to perform continuously as per targets and work for unpaid long extended working hours. The productivity of the organization is in direct relationship with satisfaction of the employees and the satisfaction increases if the lives of the employees have more balance in between the "Work" and "life".

Historically no data is available showing whether employees of the banking sector consider their lives balanced or not. This study would try to explore this area and in the mean time would like to analyze the variation among employees of different types of banks specially between public and private sector, on the gender basis, on the responsibility or position in the organization basis and would try to explore if there exists any disparity among responses.

#### Research Questions

- 1.- What is the present Work Life Balance situation in the lives of scheduled bank employees in province Punjab, Pakistan?
- 2.- Does any variation among employees of different types of banks especially between public and private sector, on gender basis, or on the responsibility or position in the bank exist?
- 3.- Does imbalance, if any, result in neglect any of the two areas i.e. Work and Life?
- 4.- Does imbalance, if any, result in work related stress of the employees?

#### **Objectives**

The objective of this study is to extend the existing literature on impact of work-life balance on the banking professionals in Punjab, Pakistan. In other words, the study is focused on investigating the status of work-life balance among the target population.

There has been scarcity of research in the field of work-life balance in Pakistan (especially in the banking sector); this topic is intended as it is one of novel areas of study in Pakistan. Further, although a plenty of investigation has been conducted in this area in the world but Pakistani perspective and dimensions are missing in research literature.

- First, after reviewing the body of present knowledge, the study will make some contribution towards understanding of plight of Work/Life Balance.
- Secondly, the study will help identify new dimensions for the researchers in Punjab, Pakistan to be explored in the areas of organizational behavior, human resource practices.

#### Data and methodology

#### **Population**

The population of the study is the number of employees in the Banking Sector of Punjab province in Pakistan. All the 36 districts banks are selected as the population of the study.

#### **Data And Types**

The primary data collection technique is used to collect data. The research methodology is used to test the hypothesis, theories or concepts. In the study primary technique of data is used to collect the required data. Primary data is collected through interviews of target group, based on structured questionnaire. The empirical data is used to measure the objectives for finding and analyzing the proper results.

#### **Study Design**

Cross-sectional study design has been opted for this dissertation preparation. A self-administered questionnaire was developed which was divided into following sections:

- 1.- Demographical Information
- 2.- Impact of family / non-work area upon work
- 3.- Impact of work upon family / non-work area

- 4.- Factors considered important for job
- 5.- Work time related information
- 6.- Family / Non-work time related information
- 7.- Work related stress exploration
- 8.- Two open ended questions seeking suggestions and opinion

#### Sampling

The stratified random sampling with sample size setting through the proportional allocation was used for this research. For each type of bank, public and private, we divide the population into L = 2 strata i.e. "1. Public" and "2. Private". Following are the notations;

 $N_h$  = number of banks in Punjab in stratum h; h = 1, 2;

 $N = N_1 + N_2 = \text{total number of banks in Punjab} = 6122;$ 

 $n_h$  = sample size in stratum h; h = 1, 2;

 $n = n_1 + n_2$  = sample size (number of banks to be taken as sample) = 306 (5% of the total banks)

The proportional allocation gives the sample size for each bank as under:

$$n_h = \frac{N_h}{N} n$$
;  $h = 1, 2$ . Further details can be found in Chocran.

Finally, we select two employees, at random from each selected bank and thus have the following sampling scheme:

#### Sample Selection:

Banks	Public	Private	Total
Total	1486	4636	6122
Sample Size of Banks	74	232	306
Sample Size of respondents	148	464	612

Thus, we randomly select 148 employees from 74 randomly public banks and 464 employees from 232 private banks.

#### Sample Size

Data is collected from the private and public sector banks from all 36 districts of the Punjab. The number of banks selected randomly from all the districts. The maximum respondents are 26 taken from the Sahiwal district, while the minimum respondents are 10 taken from the Jhang and Chakwal districts.

#### **Data Collection**

The data was collected on the basis of reference and using the network of branches of my bank located all across Punjab. The questionnaires were dispatched to the colleagues in different districts and were collected from them after those were got filled from various employees of scheduledd banks.

#### Data analysis

#### **Correlation Analysis**

Correlation analysis measures the degree or the change between the dependent variable and independent variable. The correlation coefficient is the measure of linear association between two variables. It measures the relationship between two items. The values of the coefficient of correlation must be between -1 and +1. The +1 sign shows that there is the positive and perfectly correlation between variables and the -1 shows the negative and perfectly correlation between the variables.

#### **Mann-Whitney Test**

The Mann Whitney U test is used to compare the differences between the two independent groups at that time when dependent variable is either continuous or ordinal, but not normally distributed. The Mann- Whitney test allows us to understand the different conclusions about our data depending on the assumptions about the data distribution. It is the alternative test to independent sample t-test. Mann Whitney test is the non parametric test used to compare the mean of two populations that comes from the same population. It is used for equal sample sizes. Mann Whitney U test is used to test whether two population means are equal or not. Table 5.9 shows output when grouping variable gender is used with all other variables in the questionnaire except demographic variables while in Table 5.10 grouping variable is marital status of the respondent.

The mean value of male and females, p-value of each grouping variable is shown in the above table. Four variables as your works take you away from home, Number of Official Working Days in a week, Number of Official Working Hours in a day and Number of actual Working Hours in a day in all five groups there values are more than the 0.05. Values of these variables are as follow 0.076, 0.980 and 0.082. The overall statistics of the Mann Whitney test table indicates the one grouped gender with other groups and the variables p-values shows that this grouping is accurate and we can apply the further test to analyze and interpret or data set.

Questions	Gender	N	Mean Rank	Sum of Ranks	Z	P- Value	
Family matters reduce the time you can	Male	389	285.39	111015.5	-0.198	0.843	
devote to your job	Female	179	282.57	50580.5	-0.196	0.043	
Family worries or problems distract you	Male	389	292.16	113652	-1.768	0.077	
from your work	Female	179	267.84	47944	-1.700	0.077	
Family activities stop you getting the	Male	389	276.31	107486			
amount of sleep you need to do your job well	Female	179	302.29	54110	-1.849	0.064	
Family obligations reduce the time you	Male	389	288.53	112238.5	-0.927	0.054	
need to relax or be by yourself	Female	179	275.74	49357.5	-0.927	0.354	
Your job reduces the amount of time you	Male	389	290.62	113052	1 10	0.139	
can spend with the family	Female	179	271.2	48544	-1.48	0.139	
Problems at work make you irritable at	Male	389	288.98	112415	-1.052	0.293	
home	Female	179	274.75	49181	1.002	0.200	

Your work involves a lot of time away from home	Male Female	389 179	300.07 250.67	116726.5 44869.5	-3.76	0
Your job takes up so much energy you don't feel up to doing things that need	Male	389	275.72	107253.5	-2.08	0.038
attention at home	Female	179	303.59	54342.5		
Salary/Wages	Male	389	297.04	115550.5	-3.126	0.002
Salaty/Wages	Female	179	257.24	46045.5	-3.120	0.002
Location of workings	Male	389	298.21	116002	0.544	0
Location of workplace	Female	179	254.72	45594	-3.541	0
	Male	389	305.17	118713	4.05.4	^
Holidays	Female	179	239.57	42883	-4.954	0
	Male	389	293.08	114007		0.040
Interest in job	Female	179	265.86	47589	-2.477	0.013
	Male	389	295.59	114984.5		
Career development prospect	Female	179	260.4	46611.5	-3.223	0.001
	Male	389	297.4	115688.5		
Flexible working Hours	Female	179	256.47	45907.5	-3.041	0.002
Leave Arrangement (Casual, Academic,	Male	389	300.97	117076		
Sick, Maternity/Parental etc.)	Female	179	248.72	44520	-3.948	0
Number of Official Working Days in a week	Male	389	283.93	110448	0.450	0.873
as per Job Agreement	Female	179	285.74	51148	-0.159	
Number of actual Working Days you work	Male	389	288.1	112072.5		0.000
in a week	Female	179	276.67	49523.5	-0.9	0.368
Number of Official Working Hours in a Day	Male	389	278.71	108419	1 16	0.144
as per Job Agreement	Female	179	297.08	53177	-1.46	0.144
Number of actual Working Hours you work	Male	389	303.79	118174.5	-4.67	0
in a Day	Female	179	242.58	43421.5	-4.07	0
What should be a maximum Travelling	Male	389	291.33	113328.5	-1.815	0.07
Time for Workplace (Total i.e. to & From)	Female	179	269.65	48267.5	1.010	0.07
How much Travelling Time do you take for	Male	389	288.42	112194	-0.914	0.361
Workplace (Total i.e. to & From)	Female	179	275.99	49402		
Do you think that Lunch Breaks / Time Off (At least 30 Minutes) is necessary	Male	389	274.45	106759.5	-3.683	0
, ,	Female	179 389	306.35	54836.5 100974		
When do you have Lunch Breaks / Time Off (At least 30 Minutes)?	Male	309 179	259.57 338.67	60622	-5.931	0
	Female Male	389	273.44	106366.5		
In your opinion, how much time should be spent daily with the family?		179	308.54	55229.5	-2.527	0.012
	Female Male	389	285.59	111093		
In actual, how much time do you spend daily with your family?	Female	179	282.14	50503	-0.244	0.807
In your opinion, how much time should be	Male	389	289.66	112676.5		
spent daily with the friends other than co-		179	273.29	48919.5	-1.339	0.181
workers? In actual, how much time do you spend	Female Male	389	286.76	111548		
daily with your friends other than co- workers?	Female	179	279.6	50048	-0.621	0.535
In your opinion, how much time should be	Male	389	281.55	109521.5	-0.737	0.461
•	=					

spent daily in leisure and self enjoyment alone?	Female	179	290.92	52074.5		
In actual, how much time do you spend	Male	389	304.72	118534.5	-5.231	0
daily in leisure and self enjoyment alone?	Female	179	240.57	43061.5	-3.231	0
In your opinion, how much time should be	Male	389	279.88	108873	4 00 4	0.004
spent with your community and relatives other than family daily?	Female	179	294.54	52723	-1.224	0.221
In actual, how much time do you spend with	Male	389	302.39	117629.5	E 074	0
your community and relatives other than family daily?	Female	179	245.62	43966.5	-5.371	0
In your opinion, what should be your	Male	389	284.75	110768.5	0.057	0.055
Meeting frequency with the Teachers of your children?	Female	179	283.95	50827.5	-0.057	0.955
In actual, what is your Meeting frequency	Male	389	298.3	116038.5	-3.156	0.002
with the Teachers of your children?	Female	179	254.51	45557.5		0.002
How many times you are worried about	Male	389	302	117478	-4.196	0
work when you are not at work?	Female	179	246.47	44118	-4.130	
How do you relieve your work related	Male	389	281.56	109525	-0.667	0.504
stress?	Female	179	290.9	52071	-0.007	0.504
Do you feel frustrated due to you work?	Male	389	293.96	114352	2 206	0.007
Do you feel frustrated due to you work?	Female	179	263.93	47244	-2.206	0.027
De concentrate de relieure entre construcción	Male	389	296.07	115172.5	0.004	0.000
Do you smoke to relieve out your stress?	Female	179	259.35	46423.5	-3.081	0.002
What is your satisfaction level at work?	Male	389	283.59	110315	-0.252	0.801
That is your sandrashorriever at work:	Female	179	286.49	51281	0.202	

Table 1
Mann-Whitney Test Table of all questions regarding Gender

Questions	Marital status	N	Mean Rank	Sum of Ranks	Z	P- Value
Family matters reduce the time you can	Single	142	209.92	29809	-6.535	0
devote to your job	Married	426	309.36	131787	-0.555	
Family worries or problems distract you	Single	142	219.43	31159.5	-5.878	0
from your work	Married	426	306.19	130436.5	-3.070	
Family activities stop you getting the	Single	142	220.14	31260	F 004	0
amount of sleep you need to do your job well	Married	426	305.95	130336	-5.694	0
Family obligations reduce the time you	Single	142	221.8	31495	-5.646	0
need to relax or be by yourself	Married	426	305.4	130101	-3.040	
Your job reduces the amount of time you	Single	142	287.72	40856	-0.305	0.761
can spend with the family	Married	426	283.43	120740	-0.303	0.701
Problems at work make you irritable at	Single	142	290.42	41240	-0.544	0.586
home	Married	426	282.53	120356	-0.544	0.566
Your work involves a lot of time away	Single	142	326.72	46394	-3.993	0
from home	Married	426	270.43	115202	-3.993	
Your job takes up so much energy you don't feel up to doing things that need	Single	142	306.75	43558	-2.063	0.039
attention at home	Married	426	277.08	118038	2.000	

	Single	142	316.01	44873	-3.075	0.002
Salary/Wages	Married	426	274	116723		
	Single	142	272.52	38697.5	-1.212	0.225
Location of workplace	Married	426	288.49	122898.5	1.212	0.220
	Single	142	305.9	43438.5	-2.009	0.045
Holidays	Married	426	277.37	118157.5	-2.009	0.045
	Single	142	309.35	43928	-2.811	0.005
Interest in job	Married	426	276.22	117668	-2.011	0.005
•	Single	142	317.01	45015	0.7	^
Career development prospect	Married	426	273.66	116581	-3.7	0
	Single	142	361.11	51278	7.070	
Flexible working Hours	Married	426	258.96	110318	-7.073	0
	Single	142	322.2	45752		
Leave Arrangement (Casual, Academic, Sick, Maternity/Parental etc.)	Married	426	271.93	115844	-3.54	0
<u> </u>	Single	142	284	40328		
Number of Official Working Days in a week as per Job Agreement	Married	426	284.67	121268	-0.055	0.956
<u> </u>	Single	142	268.01	38057		
Number of actual Working Days you work in a week	Married	426	290	123539	-1.613	0.107
	Single	142	343.3	48748		
Number of Official Working Hours in a	Married	426	264.9	112848	-5.809	0
Day as per Job Agreement		142	276.59	39276		
Number of actual Working Hours you	Single	426	287.14	122320	-0.75	0.453
work in a Day	Married	142	326.01	46293		
What should be a maximum Travelling	Single	426	270.66	115303	-4.318	0
Time for Workplace (Total i.e. to & From)	Married	142				
How much Travelling Time do you take	Single		303.7	43125	-1.755	0.079
for Workplace (Total i.e. to & From)	Married	426	278.1	118471		
Do you think that Lunch Breaks / Time	Single	142	231.9	32929.5	-7.546	0
Off (At least 30 Minutes) is necessary	Married	426	302.03	128666.5		
When do you have Lunch Breaks / Time	Single	142	251.77	35751	-3.05	0.002
Off (At least 30 Minutes)?	Married	426	295.41	125845		
In your opinion, how much time should be	Single	142	196.54	27909	-7.867	0
spent daily with the family?	Married	426	313.82	133687		
In actual, how much time do you spend	Single	142	177.41	25192	-9.413	0
daily with your family?	Married	426	320.2	136404		
In your opinion, how much time should be spent daily with the friends other than co-	Single	142	267.94	38048	1 602	0.092
workers?	Married	426	290.02	123548	-1.683	0.092
In actual, how much time do you spend	Single	142	282.35	40094		
daily with your friends other than co-	· ·	426	285.22	121502	-0.232	0.817
workers?	Married					
In your opinion, how much time should be spent daily in leisure and self enjoyment	Single	142	302.49	42954	-1.757	0.079
alone?	Married	426	278.5	118642		
In actual, how much time do you spend	Single	142	348.17	49440.5	6.450	0
daily in leisure and self enjoyment alone?	Married	426	263.28	112155.5	-6.453	0
In your opinion, how much time should be	Single	142	236.27	33550		
spent with your community and relatives	•	426	300.58	128046	-5.005	0
other than family daily?	Married	720	000.00	120070		

In actual, how much time do you spend	Single	142	267.02	37917	0.055	0.04
with your community and relatives other than family daily?	Married	426	290.33	123679	-2.055	0.04
In your opinion, what should be your Meeting frequency with the Teachers of	Single	142	136.7	19412	-12.99	0
your children?	Married	426	333.77	142184	-12.99	
In actual, what is your Meeting frequency	Single	142	152.25	21619	-11.846	0
with the Teachers of your children?	Married	426	328.58	139977	-11.040	
How many times you are worried about	Single	142	258.13	36654	-2.477	0.013
work when you are not at work?	Married	426	293.29	124942	-2.477	0.013
How do you relieve your work related	Single	142	277.19	39361	-0.649	0.516
stress?	Married	426	286.94	122235	-0.049	0.510
	Single	142	344.81	48962.5	-5.505	0
Do you feel frustrated due to you work?	Married	426	264.4	112633.5	-5.505	U
	Single	142	223.51	31739	-6.359	0
Do you smoke to relieve out your stress?	Married	426	304.83	129857	-6.359	U
	Single	142	248.7	35316	-3.868	0
What is your satisfaction level at work?	Married	426	296.43	126280	-3.000	

Table 2
Mann-Whitney Test Table of all questions regarding marital Status

	Impact of Family upon Work	Impact of Work upon Family	Important Factors for Job	Work Time Related Information	Non-Work Time Related Information	Work Related Stress
Impact of Family upon Work	1	.346**	-0.077	-0.053	.095*	.120**
Impact of Work upon Family		1	-0.03	.224**	-0.076	-0.004
Important Factors for Job			1	0.005	248**	.139**
Work Time Related Information				1	096*	.175**
Non-Work Time Related Information					1	-0.047
Work Related Stress						1

Table 3

#### Correlation between factors

- \*\*. Correlation is significant at the 0.01 level (2-tailed).
- \*. Correlation is significant at the 0.05 level (2-tailed).

To calculate the impact factor, six new variables were computed based on the original variables in six sections.

Work/life balance: an investigation of scheduled bank employees in Punjab, Pakistan pág. 330

1	Impact of Family upon Work	Addition of scores of sub-questions in question no.10
2	Impact of Work upon Family	Addition of scores of sub-questions in question no.11
3	Important Factors for Job	Addition of scores of sub-questions in question no.12
4	Work Time Related Information	Addition of scores of sub-questions in question no.13 to 20
5	Non-Work Time Related Information	Addition of scores of sub-questions in question no.21 to 30
6	Work Related Stress	Addition of scores of sub-questions in question no.31 to 35

Table 4

Analysis given in table 4 shows that:

- Variable "impact of family upon work" and "impact of work upon family" are positively correlated with value of R being 0.346 between them.
- Variable "Work time related information" and "impact of work upon family" are positively correlated with value of R being 0.224 between them.
- Variable "work related stress" is positively correlated with variables "impact of family upon work", "Important factors for job" and "Work time related information".

#### Regression analysis

Work stress was taken as dependent variable for this analysis while Important Factors for Job, Impact of Work upon Family, Work Time Related Information, Impact of Family upon Work, Non-Work Time Related Information and age were taken as independent variables for this analysis.

Model	R	R Square	,	Std. Error of the Estimate
1	.401 <sup>a</sup>	.161	.152	1.93384

Table 5 Model Summary

A regression analysis is presented in above table the value of adjusted R square .401 which means that the 40.1% variation in dependent variable is due to independent variable.

#### **ANOVA**<sup>b</sup>

M	odel		Sum of Squares	Df	Mean Square	F	Sig.
1	R	Regression	402.062	6	67.010	17.919	.000 <sup>a</sup>
	R	Residual	2097.987	561	3.740		
	Т	otal	2500.049	567			

Table 6 Anova Table

The Anova table shows that the Work stress is being spastically predicted well through this model as significance level is far below 0.0005.

#### Coefficients<sup>a</sup>

		Unstandardiz Coefficients	ed	Standardized Coefficients		
Model		В	Std. Error	Beta	t	Sig.
1	(Constant)	9.348	1.239		7.545	.000
	Impact of Family upon Work	.088	.023	.161	3.818	.000
	Impact of Work upon Family	073	.033	096	-2.237	.026
	Important Factors for Job	.070	.026	.110	2.728	.007
	Work Time Related Information	.115	.032	.146	3.571	.000
	Non-Work Time Related Information	085	.026	145	-3.291	.001
	Age (Binned)	.656	.089	.315	7.373	.000

# Table 7 Coefficients Table

a. Dependent Variable: Work Related Stress

#### **Factor analysis**

Component	Initial Ei	igenvalues		Extraction Loading		;	of Squared	Rotatior Loading		of	Squared
	Total	% c	fCumulative %	Total	%	of(	Cumulative %	Total	%	ofCu	mulative %
		Variance			Variance				Variance		
1	5.024	13.220	13.220	5.024	13.220	·	13.220	4.670	12.289	12.	289
2	4.071	10.712	23.932	4.071	10.712	2	23.932	4.104	10.799	23.	088
3	3.374	8.878	32.810	3.374	8.878	,	32.810	3.409	8.971	32.	059
4	2.887	7.598	40.408	2.887	7.598	4	40.408	2.906	7.647	39.	706
5	2.316	6.095	46.504	2.316	6.095	4	46.504	2.467	6.491	46.	197
6	2.071	5.450	51.954	2.071	5.450	ļ	51.954	2.188	5.757	51.	954

Table 8
Total Variance Explained

Rotated Component Matrix <sup>a</sup>	lo					
	Comp		- In	1.		
	1	2	3	4	5	6
Family matters reduce the time you can devote to your job			.705			
Family worries or problems distract you from your work			.720			
Family activities stop you getting the amount of sleep you need to do your job well	r		.673			
Family obligations reduce the time you need to relax or be by yourself			.567			
Your job reduces the amount of time you can spend with the family		.705	.007			
Problems at work make you irritable at home		.668				
Your work involves a lot of time away from home		.722				
Your job takes up so much energy you don't feel up to doing things that	f					
need attention at home	1	.670				
Salary/Wages	.676					
Location of workplace	.697					
Holidays	.731					
Interest in job	.728			+		
Career development prospect	.556			+		
Flexible working Hours	.754			+		
Leave Arrangement (Casual, Academic, Sick, Maternity/Parental etc.)	.703			+		
Number of Official Working Days in a week as per Job Agreement	.703					
Number of Official Working Days for a week as per 300 Agreement  Number of actual Working Days you work in a week				+		
Number of Official Working Hours in a Day as per Job Agreement			546			
Number of Official Working Hours in a Day as per 300 Agreement  Number of actual Working Hours you work in a Day			346	.503		
What should be a maximum Travelling Time for Workplace (Total i.e. to &				.503		
rom)	"					.645
How much Travelling Time do you take for Workplace (Total i.e. to & From)	1					.466
Do you think that Lunch Breaks / Time Off (At least 30 Minutes) is						.400
necessary					.547	
When do you have Lunch Breaks / Time Off (At least 30 Minutes)?					.730	
In your opinion, how much time should be spent daily with the family?			.669		.730	
In actual, how much time do you spend daily with your family?			.548			
In your opinion, how much time should be spent daily with the friends other	r		.540			
than co-workers?	'					.461
In actual, how much time do you spend daily with your friends other than						
co-workers?						
In your opinion, how much time should be spent daily in leisure and self	f					
enjoyment alone?						
In actual, how much time do you spend daily in leisure and self enjoyment	t					
alone?						
In your opinion, how much time should be spent with your community and	505					
relatives other than family daily?						
In actual, how much time do you spend with your community and relatives other than family daily?	8					.657
In your opinion, what should be your Meeting frequency with the Teachers	S			720		
of your children?				.726		
In actual, what is your Meeting frequency with the Teachers of your	r			.733		
children?	<u> </u>			.133		
How many times you are worried about work when you are not at work?						
How do you relieve your work related stress?						
Do you feel frustrated due to you work?		.766				
Do you smoke to relieve out your stress?				.465		
What is your satisfaction level at work?					.501	

Table 9. Rotated Component Matrix

#### Result and discussion

The objective of the study was to investigate the status of balance/imbalance in the work and lives of employees of scheduled banks in Punjab, Pakistan. The balance between work and life cannot be ignored in any way because it is important for the productivity of the workers. In our questionnaires design 612 total numbers of questionnaires are presented to collect the data from the banks of all thirty six districts of the Punjab province. Only 568 respondents showed their response to answer the question and fill the questionnaires.

The references were used to get these questionnaires filled from each district of Punjab. The highest response was from Sahiwal district which was 26 (Twenty Six) respondents, while the minimum number of respondents were 10 and they belongs to the banks of district Jhang and Chakwal. The respondents who were employed in public banks were 123 and those employed in private banks are 445 from the province of Punjab.

The model of the study was to explore the present situation of work life balance among the sample. Mann Whitney U test applied to measure the statistical differences of more than two groups and to measure the difference between the two independent groups at that time when dependent variable is either continuous or ordinal, but not normally distributed. Results of the Mann Whitney U test shows that the p-value of the variables is lower than the 0.05% level but limited numbers of variables have higher p-value. In the Mann Whitney U test gender and marital status are used to group with the other groups and p-value is indicating that the groups are independent from each other.

Correlation is used to measure the degree of relationship between the variables. The estimated value of the Pearson's correlation is .401 which is indication the higher correlation between the variables. A good positive relationship is showing that due to problem at work creates work stress. Working in office is not satisfactory due to some reasons that will make a difficult to act as normal in family life. Family imbalance will have impact on your professional working life and you will be able to produce a higher productivity as you can do in family balance life. Family imbalance will create a problems at work and you productivity at work will be effected. Problems at work should be minimized to work at efficient level.

Answers to research questions based on the above given discussion is as under:

- 1.- At present Work Life Balance situation, in the lives of scheduled bank employees in province Punjab is highly imbalanced. They spend more time and the work related activities and cannot give proper time to their role outside work.
- 2.- The imbalance position varies slightly across sectors, gender, age and position.
- 3.- The imbalance is making them neglect their world outside the work.
- 4.- The analysis of data shows that there is positive correlation between work-related stress and imbalance in their lives.

#### **Conclusion and policy recommendation**

Objective of the study was to estimate the work life balance is the scheduledd banks of the province of Punjab in Pakistan. Our data result indicates that there exist the imbalance between work life and family life/non-work life. problems at working conductions or during working hour is effecting the family life and creating a problems at home, that will

have further impact on the productivity of the worker and the whole working team in a office. In the banking sector the productivity of the employees is much needed because it is the whole day work. A number of customers visit the bank for their daily transactions and their satisfaction is much more important so if employees are not working at their efficiency level then it will not be beneficial for the working bank branch. A problem at work has a direct impact upon employee's life outside the work. In above all discussion the word satisfaction is much needed in the family life and in the working time. Work life balance is important for productivity of employees in the banking sector.

#### **Policy recommendation**

The Bank's should reconsider their timings and working environment so that employees could give proper time to their non-work/family life. The Bank's should identify the areas which are barring employees from feeling highly satisfied from their jobs. The Bank's need to identify and solve the reasons behind frustration of the employees as frustration is not only harmful for productivity but also it results in difficulty in retention of quality and developed human capital. The working environment of the banks should be according to the demand of employees that they can work and produce at their efficiency. Number of employees at working place according should be to the need of customer because limited employees cannot provide services to many customers. Family problem should be solved because it will make a balance between work and life.

#### Limitation of the study

Following are few of the limitations of the study:

Other financial institutions like Development Finance Institutes and micro financing organizations were not selected for this research.

The research's scope is limited to the geographical territory of the province Punjab only.

Area of collection of data is very limited, a number of banks selected from each district of Punjab. It was difficult to collect the data of employees from the all working banks of Punjab.

A simple statistical technique Pearson's correlation and regression analysis is used to estimate and interpret the results, because the construction of model is based on the two variables.

The study was highly time bound and time constrained.

## CUADERNOS DE SOFÍA EDITORIAL

Las opiniones, análisis y conclusiones del autor son de su responsabilidad y no necesariamente reflejan el pensamiento de la **Revista Inclusiones**.

La reproducción parcial y/o total de este artículo debe hacerse con permiso de **Revista Inclusiones**.